484/Eco. UG/4th Sem./ECOP-SEC-T-2/20 f)  Find the Median of the following numbers:
33, 86, 68, 32, 80, 48, 70, 64
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Skill Enhancement Course (SEC) g) Mention two disadvantages of Arithmetic
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The figures in the right-hand margin indicate marks. h) What do you understand by dispersion?

Candidates are required to give their answers in
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1)  What would be the shape of a Lepto-kurtic

their own words as far as practicable.

1.  Answer any five questions: 2x5=10 frequency curve?

@~ #HeTS 2o Tea e ¢ “Lepto-kurtic” #ifRal (i il Fshsl 2

a)  What is primary data? 2.  Answer any two questions: 5x2=10
sl o2 2 (- (PICTI {6 20 Ted i ¢

b)  Mention two sources of secondary data. a) i)  Showthat Y (x-%)=0.
¢TIl SR i ST Sree 9| e @ Y (x—%)=0|

c)  Whatis Range? ii) If Y (x-10)=20,findA. M. ¥,
IR @TCS (A 2 (i=1, 2, 3, ..., 10)

d)  What is class mark? o z(xi ~10)=20 =, oIffeF % ¥
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e) Define Mode. (1=15,39, .., 50)
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d)
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Prepare a frequency table with class intervals
60-79, 80-99, 100-119 etc. from the

following data (Tally marks must be shown):
96, 130, 63, 115, 145, 99, 118, 104, 126, 72,
77, 87, 151, 81, 142, 122, 110, 131, 98, 96.
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DY, D90, VO, $3E, S8E, 8, Sdb, S08, SV, 43,
99, b9, &S, brd, 583, 93, 550, 93, db, Y |

Calculate the mean and standard deviation of

the following observations:
4,6,9, 12, 14, 16, 18, 20, 22.
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8,1, 5, 53, 58, Y, S, 30, 33

Calculate the coefficient of variation and the
coefficient of quartile deviation of the
distribution with mean 40. Q =32, Q,=338,
Q,=42.2 and S.D.=4.32.

g6 frerer aifdfes e so, Q,=o3, Q =ov,
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3. Answer any two questions:

10x2=20
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a)  What do you mean by cumulative frequency
distribution? Find the cumulative frequencies
(less than and greater than type) of the
following distribution: 3+7
Class: 50-55 | 5560 | 60-65 | 65-70 | 70-75 | Total
Frequency: 12 16 10 8 4 50
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b)  Find the Arithmetic Mean and Median from
the following distribution: 5+5
Class: 20-30 30-40 | 40-50|50-60 | 60-70
Frequency: 10 8 6 4 2
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What is Standard Deviation? Explain why
it 1s regarded as the best measure of

dispersion.
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What is Skewness? Suppose coefficient
of skewness for a certain distribution
=-0.375, mean = 62, median = 65. Find
the value of standard deviation.
(2+3)+(2+3)

ARSI FeTce I (@R 2 (FIeT 950
JelETId At Qe = —o0.94 ¢, 9MfdfeF
T = LY I Y = L T O  [eiaig
S AL e |

Given that Arithmetic Mean = 26.8 and
Median = 27.9. Calculate mode.

T alfdfes o8 = Qub @2 G = 24
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The mean age of 30 men and 40 women
are 50 years and 45 years respectively.

Find the mean age of 70 men and women

together.
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Calculate the Geometric Mean of 4, 10
and 25.

8, 50 OR -7 BTG 51G (7 54 |
If Q =175, Q=182 and Q,=192,

calculate coefficient of Skewness.
24+2+3+3
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